Prove the following statement by mathematical induction.

SCORE: \_\_\_ / 6 POINTS

For all integers 
$$n \ge 0$$
, 
$$\frac{1}{1 \times 3} + \frac{1}{3 \times 5} + \frac{1}{5 \times 7} + \dots + \frac{1}{(2n+1) \times (2n+3)} = \frac{n+1}{2n+3}$$

BASIS STEP:

If 
$$n = 0$$
, 
$$\frac{1}{1 \times 3} = \frac{1}{3} = \frac{0+1}{2(0)+3}$$

INDUCTIVE STEP:

Assume that 
$$\frac{1}{1\times 3} + \frac{1}{3\times 5} + \frac{1}{5\times 7} + \dots + \frac{1}{(2k+1)\times (2k+3)} = \frac{k+1}{2k+3}$$

for some particular but arbitrary integer k, where  $k \ge 0$ 

$$\frac{1}{1\times 3} + \frac{1}{3\times 5} + \frac{1}{5\times 7} + \dots + \frac{1}{(2(k+1)+1)\times (2(k+1)+3)} = \frac{(k+1)+1}{2(k+1)+3}$$
ie. 
$$\frac{1}{1\times 3} + \frac{1}{3\times 5} + \frac{1}{5\times 7} + \dots + \frac{1}{(2k+3)\times (2k+5)} = \frac{k+2}{2k+5}$$

$$\frac{1}{1\times3} + \frac{1}{3\times5} + \frac{1}{5\times7} + \dots + \frac{1}{(2k+3)\times(2k+5)}$$

$$= \frac{1}{1\times3} + \frac{1}{3\times5} + \frac{1}{5\times7} + \dots + \frac{1}{(2k+1)\times(2k+3)} + \frac{1}{(2k+3)\times(2k+5)}$$

$$= \frac{k+1}{2k+3} + \frac{1}{(2k+3)(2k+5)}$$

$$= \frac{(k+1)(2k+5)+1}{(2k+3)(2k+5)}$$

$$= \frac{2k^2 + 7k + 6}{(2k+3)(2k+5)}$$

$$= \frac{(2k+3)(k+2)}{(2k+3)(2k+5)}$$

$$= \frac{k+2}{2k+5}$$

By mathematical induction, 
$$\frac{1}{1\times 3} + \frac{1}{3\times 5} + \frac{1}{5\times 7} + \dots + \frac{1}{(2n+1)\times (2n+3)} = \frac{n+1}{2n+3}$$
 for all integers  $n \ge 0$ .

Prove the following statement by mathematical induction.

SCORE: \_\_\_ / 6 POINTS

For all integers 
$$n \ge 0$$
, 
$$\frac{1}{1 \times 4} + \frac{1}{4 \times 7} + \frac{1}{7 \times 10} + \dots + \frac{1}{(3n+1) \times (3n+4)} = \frac{n+1}{3n+4}$$

BASIS STEP:

If 
$$n = 0$$
, 
$$\frac{1}{1 \times 4} = \frac{1}{4} = \frac{0+1}{3(0)+4}$$

INDUCTIVE STEP:

Assume that 
$$\frac{1}{1 \times 4} + \frac{1}{4 \times 7} + \frac{1}{7 \times 10} + \dots + \frac{1}{(3k+1) \times (3k+4)} = \frac{k+1}{3k+4}$$

for some particular but arbitrary integer k, where  $k \ge 0$ .

$$\frac{1}{1\times4} + \frac{1}{4\times7} + \frac{1}{7\times10} + \dots + \frac{1}{(3(k+1)+1)\times(3(k+1)+4)} = \frac{(k+1)+1}{3(k+1)+4}$$
ie. 
$$\frac{1}{1\times4} + \frac{1}{4\times7} + \frac{1}{7\times10} + \dots + \frac{1}{(3k+4)\times(3k+7)} = \frac{k+2}{3k+7}$$

$$\frac{1}{1\times4} + \frac{1}{4\times7} + \frac{1}{7\times10} + \dots + \frac{1}{(3k+4)\times(3k+7)}$$

$$= \frac{1}{1\times4} + \frac{1}{4\times7} + \frac{1}{7\times10} + \dots + \frac{1}{(3k+1)\times(3k+4)} + \frac{1}{(3k+4)\times(3k+7)}$$

$$= \frac{k+1}{3k+4} + \frac{1}{(3k+4)(3k+7)}$$

$$= \frac{(k+1)(3k+7)+1}{(3k+4)(3k+7)}$$

$$= \frac{3k^2 + 10k + 8}{(3k+4)(3k+7)}$$

$$= \frac{(3k+4)(k+2)}{(3k+4)(3k+7)}$$

$$= \frac{k+2}{3k+7}$$

By mathematical induction, 
$$\frac{1}{1\times 4} + \frac{1}{4\times 7} + \frac{1}{7\times 10} + \dots + \frac{1}{(3n+1)\times (3n+4)} = \frac{n+1}{3n+4}$$
 for all integers  $n \ge 0$ .

Prove the following statement by mathematical induction.

SCORE: \_\_\_ / 6 POINTS

For all integers 
$$n \ge 0$$
, 
$$\frac{1}{1 \times 5} + \frac{1}{5 \times 9} + \frac{1}{9 \times 13} + \dots + \frac{1}{(4n+1) \times (4n+5)} = \frac{n+1}{4n+5}$$

BASIS STEP:

If 
$$n = 0$$
, 
$$\frac{1}{1 \times 5} = \frac{1}{5} = \frac{0+1}{4(0)+5}$$

INDUCTIVE STEP:

Assume that 
$$\frac{1}{1 \times 5} + \frac{1}{5 \times 9} + \frac{1}{9 \times 13} + \dots + \frac{1}{(4k+1) \times (4k+5)} = \frac{k+1}{4k+5}$$

for some particular but arbitrary integer k, where  $k \ge 0$ .

$$\frac{1}{1\times 5} + \frac{1}{5\times 9} + \frac{1}{9\times 13} + \dots + \frac{1}{(4(k+1)+1)\times (4(k+1)+5)} = \frac{(k+1)+1}{4(k+1)+5}$$
ie. 
$$\frac{1}{1\times 5} + \frac{1}{5\times 9} + \frac{1}{9\times 13} + \dots + \frac{1}{(4k+5)\times (4k+9)} = \frac{k+2}{4k+9}$$

$$\frac{1}{1\times 5} + \frac{1}{5\times 9} + \frac{1}{9\times 13} + \dots + \frac{1}{(4k+5)\times(4k+9)}$$

$$= \frac{1}{1\times 5} + \frac{1}{5\times 9} + \frac{1}{9\times 13} + \dots + \frac{1}{(4k+1)\times(4k+5)} + \frac{1}{(4k+5)\times(4k+9)}$$

$$= \frac{k+1}{4k+5} + \frac{1}{(4k+5)(4k+9)}$$

$$= \frac{(k+1)(4k+9)+1}{(4k+5)(4k+9)}$$

$$= \frac{4k^2 + 13k + 10}{(4k+5)(4k+9)}$$

$$= \frac{(4k+5)(4k+9)}{(4k+5)(4k+9)}$$

$$= \frac{k+2}{4k+9}$$

By mathematical induction, 
$$\frac{1}{1\times 5} + \frac{1}{5\times 9} + \frac{1}{9\times 13} + \dots + \frac{1}{(4n+1)\times (4n+5)} = \frac{n+1}{4n+5}$$
 for all integers  $n \ge 0$ .

Prove the following statement by mathematical induction.

SCORE: \_\_\_ / 6 POINTS

For all integers 
$$n \ge 0$$
, 
$$\frac{1}{1 \times 6} + \frac{1}{6 \times 11} + \frac{1}{11 \times 16} + \dots + \frac{1}{(5n+1) \times (5n+6)} = \frac{n+1}{5n+6}$$

BASIS STEP:

If 
$$n = 0$$
, 
$$\frac{1}{1 \times 6} = \frac{1}{6} = \frac{0+1}{5(0)+6}$$

INDUCTIVE STEP:

Assume that 
$$\frac{1}{1 \times 6} + \frac{1}{6 \times 11} + \frac{1}{11 \times 16} + \dots + \frac{1}{(5k+1) \times (5k+6)} = \frac{k+1}{5k+6}$$

for some particular but arbitrary integer k, where  $k \ge 0$ 

$$\frac{1}{1\times 6} + \frac{1}{6\times 11} + \frac{1}{11\times 16} + \dots + \frac{1}{(5(k+1)+1)\times (5(k+1)+6)} = \frac{(k+1)+1}{5(k+1)+6}$$
ie. 
$$\frac{1}{1\times 5} + \frac{1}{5\times 9} + \frac{1}{9\times 13} + \dots + \frac{1}{(5k+6)\times (5k+11)} = \frac{k+2}{5k+11}$$

$$\frac{1}{1\times 5} + \frac{1}{5\times 9} + \frac{1}{9\times 13} + \dots + \frac{1}{(5k+6)\times(5k+11)}$$

$$= \frac{1}{1\times 5} + \frac{1}{5\times 9} + \frac{1}{9\times 13} + \dots + \frac{1}{(5k+1)\times(5k+6)} + \frac{1}{(5k+6)\times(5k+11)}$$

$$= \frac{k+1}{5k+6} + \frac{1}{(5k+6)(5k+11)}$$

$$= \frac{(k+1)(5k+11)+1}{(5k+6)(5k+11)}$$

$$= \frac{5k^2 + 16k + 12}{(5k+6)(5k+11)}$$

$$= \frac{(5k+6)(k+2)}{(5k+6)(5k+11)}$$

$$= \frac{k+2}{5k+11}$$

By mathematical induction, 
$$\frac{1}{1\times 6} + \frac{1}{6\times 11} + \frac{1}{11\times 16} + \dots + \frac{1}{(5n+1)\times (5n+6)} = \frac{n+1}{5n+6}$$
 for all integers  $n \ge 0$ .